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smallest angle. Find n.
Answer:[__]

Find the area of the largest rectangle with lower base on the x-axis & upper
vertices on the curve y = 12 - X°.
Answer:[ ]
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36. | Let f(x) be differentiable for all x. If f(l) =2and f '(x) >2 for x €(1,6) then 1. | If the function { (x) =2x> —9ax® +12a’x +1, where a >0, attains its maximum and

(A) f(6) _s (B) f(G) e (€) f(6) <3 D) f(6) 58 minimum at p and q respectively such that p> = q, then ‘a’ equals

(A) 3 ®B)1 (©)2 (D) 12
2n 93 _ o 2 X

37.1 In aAABC,A:F,b—c=3J§ cm and ar (AABC)=T cm?. Then a is 2.1 IfA= '« and | A’ | =125, thena =

(A)6 J3cm (B) 9 cm (C)18cm (D) none of these (A)£3 B)*2 (C)£5 DO
38. | A spherical iron ball 10 cm in radius is coated with a layer of ice of uniform thickness 3. | The function f (x) =cot "X +X increases in the interval

that melts at a rate of 50 ¢cm®/min. When the thickness of ice 1s 15 cm, then the rate at

which the thickness of ice decreases, 1s ) (1’00) ®) (_1’00) © (_wco) D) (O’OO)

(A) Ll cm/min (B) o em/min - (C) - co/min -~ (D) = cm/min

61 54n 18n i 36m
a " ST 2 T .
39. | Area of the greatest rectangle that can be inscribed in the ellipse x_2+y_2 =11s 4. | The line which is parallel to x-axis and crosses the curve y = \/; at an angle of — is
a~ b (A)y=—1/2 (B)x = 1/2 (C)y =1/4 (D)y =1/
(A) 2ab (B) ab (C) +fab (D) %
X x <l

40. | A spherical balloon is filled with 4500 © cubic meters of helium gas. If a leak in the 5. | Let f(x)= 2-x 1<x <2 then f(x) is

balloon causes the gas to escape at the rate of 75 7 cubic meters per minute, then the D+3x—x>  x>2

rate (in metres per minute) at which the radius of the balloon decreases 49 minutes . . . .

i . (A) differentiable at x =1 (B) differentiable at x =2
after the leakage began is
(C) differentiable atx =1 and x =2 (D) not differentiable at x =0
(A) 2/9 (B)9/2 (C)9/7 (D) 7/9
INTEGER TYPE ESTIONS: T T e
G QUESTIONS Space for rough work
1.1 The sides of a triangle are consecutive integers n, n+ 1 and n + 2 and the largest angle is twice the
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the sides of the triangle. Area of the triangle is
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6. | A particle is moving along a line such that s =3t —8t+1. Find the time ‘" when the 31. 1 If the function f(x) =i+ xz, has maximum at x = -3, then the value of ‘a’ 1s
distance ‘S’ travelled by the particle increases. S
A) 54 (B) -54 (©) 10 (D)-10
of (
(A)t>& (B)t<& (C)t<2—J_ D) t=0
3 3 2
7. {;Sqlr/\ée y =1-ax?and 3((B=) >1<,2’3i‘ntersect orthogorzg:l)lyzthen the value of a(is 32. ] The approximate value of 4/1.02 is
(A)1.01 (B) 1.001 (C) 1.0001 (D) 1.1001
8.] If 2a+3b+6¢ =0, then at least one root of the equation ax” +bx +c¢ =0 lies in the 33.|] If the curves ay + x*> =7 and x* = y cut orthogonally at (1, 1) thena =
mterval Al (B) -6 €6 (D) 1/6
(A) (O, 1) (B) (1, 3) © 2,3 (D) (1, 3)
3
9. | A particle moves along a line 1s given by S= ?—3‘[2 + 8t then the distance travelled by 34. || The least value of k for which the function f (x) =x’+kx+1isa mcreasing function
the particle before it first comes to rest 1s _ in the interval I<x <2
40 20 3 8 A -1 B) -2 ©1 D)3
A) — unit B) — unit C) — unit D) = unit
(A) 5 (B) ) (©) . D) i
10. | Inan equilateral triangle, 3 coincs of radii 1 unit each are kept so that they touche each other and also 35. | The points on the curve y = x> ++1—-x> at which the tangent is perpendicular to x-axis

are

(A) (1, 1) only (B) (xLD (©) (LD (D) (=L1) only
Space for rough work
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: 26. | The interval in which f(x) =x>—3x?-9x+20 is strictly decreasing 11.| If the angles of a triangle are in the ratio 4 : 1 : 1, then the ratio of the longest side to the perimeter is
|
. (A)J3:(2+43) (B)1:6 (C)1:2+ 3 (D)2:3
| @) (-1,3) (B) (3,) (C) (—o0,-1) (D) (5.9)
|
|
|
I 1 sin® 1
| . .
: 27. | The global maximum and global minimum of f(x) =2x3-9x* +12x +6in [0, 2] 12.0 Let A=|-sm0 1 sin0],0<0< 2w The
| -1 —-smb6 1
| () (11,6) B) (6,11) (©) (-6.11) D) (~11,6) =
: (A) A=0 B)Ae (2,00) (C) Ae (2,4) (D) Ae [2,4]
|
I 111
|
: 28. | The approximate value of 33 is 13.1 A=l|a’ b> ¢?*, thenfind A
: (A)2.0125 B)2.1 (C)2.01 (D) 3.258 a b
|
i (A) (afb)(bfc)(cfa) (B) (afb)(bfc)(cfa)(abc)
|
: (O) (a+b)(b+c)(c+a) (D) None of these
: 29. | The slope of the normal to the curve given by x = a(e—sine),y :a(l_gose) at e=g 14.] The sides of a triangle are in the ratio 1: ,/3 : 2, then the angle of the triangle are in the ratio
|
: 3 | (A)1:3:5 (By2:3:4 (€)3:2:1 (D)1 :2:3
| (A) — B) - (©) -1 D)2
: 2 2
|
|
|
: 30. | The angle between the curves y=x*and y = CB{X_I) at (1, 1) 1s 15. ] A point on the parabola y2 =18x at which the ordinate increases at twice the rate of
| .
the ab i

: (A)0 ®) L © L3 ) L3 ¢ abscissa, 1s
| : 2 9 9 9 9
| fT T T T T T T T T T T T s e s e e e m e e e e e e m e e m e mm—mm - (A) (2.4 B)(2,-4) (©) (8’2] (D) [8’2]
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|
|
|
|
|
|
|
|
|
|
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|
|
|
|
|
|
|
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|
|
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|
|
|
|
|
|
|
|
|
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16.

17.

18.

19.

20.

Angle between the tangents to the curve y = x> —5x +6 at the points (2, 0) and (3, 0) is

(A) ©/2 B) 7/6 (C) /4 (D) x/3
The function f (x) =1+E has a local minimum at

X
AL ) B) x=0 @ x=i (D) x=2

I 0 0 1 00 |
A=|0 1 1 = 0 10 andA“=[E(A’+CA+dI)]thenthevalueofcanddare

0o -2 4 0 0 1
(A)-6,-11 B)6, 11 (C)-6,11 (D)6, 11
0 a—-b a-c
b-a 0 b-cl=
c—a c-b 0
(A) abe (B) a+b+c (€)0 (D)a’b’c’

I+y 1-y 1-y
If A=1-y l+y 1-y|=0, then value of y are

-y 1-y l+y

(A)0,3 B)2,-1
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21,

22,

23.

24,

25.

o I— O

Find Value of ‘¢’ by using Rolle’s theorem for f(x)=1log (XZ + 2) —log3 on [—l,l]

(A0 B)1 (C)-1 (C) does not exists

: - . . . sin ZBAD
Inatriangle ABC, B =60°and C = 45°. Let D divides BC internally in the ratio 1 : 3, then,

2 1 1 1
(A) 3 B® 7 © 7 D 3

. ’ 4 : -
The equation of the tangent to the curve y =X + —-, that is parallel to the x-axis is
=

(A) y=1 B) y=2 (©) y=3 (D) y=0

The function f(x)=tan ' (sinx +cosx) is an increasing function in

n T - T T - 7
w3 e o) oF3)

The normal to the curve x*+2xy—3y* =0at (1)

(A) does not meet the curve again
(B) meet the curve again in second quadrant
(C) meet the curve again in the third quadrant

(D) meet the curve again in forth quadrant
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